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1	 PAIN is to INJURY as GRIEF is to

A	 FURY
B	 LOSS
C	 TIME
D	 WORRY
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2	 Which of the following words does not belong with the other three? 

A	 DREAD
B	 REGRET 
C	 FOREBODING
D	 APPREHENSION
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3	 Assume that some children eat pears, that nobody who eats pears likes oranges and that all 
people who like oranges also like broccoli. 

Which one of the following statements must be true? 

A	 No children like broccoli. 
B	 Some children like broccoli. 
C	 Some children do not like oranges. 
D	 All children like both pears and oranges. 

Question No. Key Context
1 B loss
2 B regret
3 C Some children do not like oranges
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